

Salary foundation



GET STARTED

About Us

We are a Direct Selling Company. We are one of the fastest growing Companies in the Network Marketing Industry today and we are creating waves with Health Industry.

We are here to make a positive change in the society we live in by shifting our attitude towards value-addition for a new paradigm in personal development and thereby adding further value to the continuous shaping up of our system in phases of growth and excellence.

we shall aspire to provide a stimulating and a progressive environment, with the aim to maximize individual potential and, through our core values ensure people are empowered to meet the challenges of work and life in a rapidly changing global environment.



Why Salary Foundation

Our System is crowd funding system we made history of India's peoples life they made rich and money freedom life

This is purely P2P Money transaction system

Why chose us:

- **✓ 100% Safe**
- **✓ 100% secure**
- ✓ 100% trusted
- ✓ 100% transparency
- ✓ Life changing platform



Vision and Mission



VISION

To be the No. 1 Indian
Network Marketing Company
by providing opportunities,
instilling leadership, creating
millionaires and touching a
billion hearts

MISSION

To inspire people to help others making a positive change in their lives

VALUES

Fair Trade Practices, Integrity
Transparency, Trust
Excellence through Leadership
Customer Delight

OBJECTIVES

Customer satisfaction is our objective & Giving Healthy and Happy Lifestyle!

HIGHLIGHTS

- ✓ India's first reliable autopool helping platfrom.
- 100% peer to peer donation basred Helping Platfrom.
- ✓ After registration you have to send the first donation to the respective person which show in the system and you will enter in autopool.
- ✓ Autopool income Rs.2,79,79,100(2.79 CR)
- ✓ Sponsor income Rs,11,38,600 (More referral more income)
- ✓ Direct referral 2 compulsory for receving help.



Legal Documents





SOMEOMENT OF COMPUTED AFFIRM

Coord Bagistoten Coors

Certificate of Incorporation

(Prostruction with execute (Sport execute 1 and extensions (Sport execute spirite) Companies Avr. 1813 (18 of 1865) and other 18 of the Companies (Sport execute Batter, 1814)

I books posti due III. AL TRI WEAL TRI SUCCERT SAAKEESTIGESSING ALL ERREITS on bumposed on Am Frontieris As; of Lancey Ton Sourced Assay and poly the Company: Art. 2010 118 of 2010 1011 had be recovery to harred by Jones.

The Coperors blooks himster of the reagons in Utdata/CAS/QEPSC199804

The Processes Assess Market (PAVG) of the consumer in AMERICAN

Per San Colorina and Callerina Jerona Number (LANG of Strengung a MERHISTENCE ...

tions make any bond or bitures the Engrands day of Jensey. Two discussed transparen-

Dittier I

Maria de la compania del compania del compania de la compania del la compania de la compania della compania della compania de la compania de la compania della compania della compania de

For and an industrial for furnishment flagment of Companies

Тарови обблевова

Carrel Bayresonn Carre

Modery Address as per model contribits to Supplies of Constalis offices

HING THEWAY, DO MICE SON SOURCE THE FORMASS CINCIENTS.

**A CHING THE SON SOURCE A., VORTAGE TAXABLE HING.

Buogolina, Karumna, Isra, Hittori



techned by the busine for Digostore

reciand to far bases for Departure

Seogoline, Europain, 160a, 1006

as cause, pure an agust 1.5. Voruntial, passessiffing.





Business Plan





Start with Only



ePin Rs. 30/- Only

Direct Sponsor Income Rs. 100/-

Global Auto pool Rs. 200/-



Types Of Income



1. Direct Sponsor Income

2. Daily Salary Income

3. Helping Income

4. Rebirth Income

5. Award Reward Income

Together We Will Win The World

Helping Chart



LEVEL	MEMBER	HELP	TOTAL HELP	LEVEL UPGRADE	SPONSER HELP	PROFIT	PROVIDE HELP	Rebith
Star	3	200	600	600	###	000	###	###
Silver	9	600	5400	2000	600	2800	3	3
Gold	10	2000	20000	6000	2000	12000	9	9
Platinum	20	6000	120000	20000	6000	94000	30	30
Ruby	30	20,000	600000	100000	20000	470000	60	60
Emerald	40	100000	4000000	500000	100000	3400000	101	101
Diamond	50	500000	25000000	###	1000000	24000000		
	162				1138600	27979100	203	203

Salary Income

Salary Help Rs. 1100/-

- 100 sponsor
- 1000 global auto pool
- Total Income Rs. 2000/- every time

☐ Booster terms and condition

- ✓ 2 Direct Sponsor Compulsory
- ✓ One Day one entry only
- ✓ Epin Compulsory for every time entry again and again
- ✓ His Sponsor If not activate boosting board that's time they sponsor income go to activated Upline (i.e. 100)

Terms & Condition

- o Registration Free.
- o Id activation and upgrade within 24 hours
- Minimum 2 Direct Compulsory for reviving help
- Unlimited direct sponsor allowed .
- o One Mobile Number three Ids Only.
- Time to time provide and upgrade id else id will be blocked
- o Your multiple provide help commission goes to sponsor

